EARAZROREIERT — 2 N—XBISY —F 2021548258 (H) 2[@£R3H

Nl S>%—# C210 (xwlw | lmEmml - |5 8 wom 8
[A&4£)] 1% :300,000" ~ 23#%&:9,000H”  33%&:48,000” 437 :36,000MH .~ 57 :30,000H
& % B BB Mk HE BF (&) 24 L (&%) | @BBIBf | £3F |SIEH | AR | AE | R FIRB) / BE / £EHRS
K ¢ o4 | HEREA 1:31.8 1-1-1-1 | 39.1| — 2 124 | REBS (2R
1188 | A¥ v ¥a/NT— 56.0 — 2ILET
RTIIRF 4y I9FUT— BRTyTa o O | Zpim
o= IBIHHRR : —3-3- = hnEERNE (2R
5 3Ly KSL—Fz i 4 ot 1.(373).3 2-3-3-2 | 39.9 1 475 e (£R)
LN=VT754 B:XFAT77147 (-2) HET7— L
= o 2 7 | HEREN 1:33.9 2-2-2-3 | 40.9| — 4 423 | BHEET (£R)
sl 6| 71TV A-UT “ 0 5.0 ® 42) Sl
R:F4—TA4>N7 8 BT/ F)-F> HAHHTT 7 — L4
S S it 6 | EESB 1:34.5 6-4-4-4 | 40.6| — 3 477 | EHBHE (2R
4|55 |7V x A 54.0 3) (o) |EEZE ’
RIZXKRT—NSF— B:7L—%2—ZO-F HEANTT— L
511 TV=¥~L i 4 igrﬁgb 1:(324).9 5-6-6-5 |40.4| — 5 440 %iﬁ (£R)
LELFOYY BTNy ELHE— 6) | eaagin
6lzl 7| vrzxryx5%35 4 f_ﬁiﬁiﬂ 1(:13/52.>0 8-9-7-7 |41.0| — | 6 (4+1; ?(%ﬂ)?%:’f P(ﬁ;};)_ﬂ
L:bh—t2hvLERY B:VvXRMFNAERZR BE77—L4
7 o | FATILAL 4 10 2@7!;7!(— 1:(335).6 4-5-5-6 |39.8| — 8 423 ?Fﬂéé (£R)
QT FAFAF-XH BB 2| s
8 NESEE ST EIN > 4 glé_g*i’@ (12.316/.21) 8-8-8-8 |[40.3 9 | 473 #!;;Z%_L (&R)
LELFOYY BT RTANTAT 2 i\ me
S5 S 4t 6 | EEBAR 1:36.4 7-7-8-9 | 40.6 | — 7 475 | EH—R (£R)
9189 YLZ/4B—-F 56.0 (11/2) o |FHBE
LW—F—2y T BiA2aAT7F7—LR H &K #ERS
® I—F—&EBIERL
13=3r= 8,(3,6),2,1,5,9,(4,7)
2ol=5"= 8,6,3,5,2,1,9,4,7
33—7— |8,6,3,5,2,1,7,(4,9)
41—F— 8,3,6,5,1,2,7,4,9
[ N5
B R 8 2108 | | 71 K 3-8 110 | | # & 3-8 150 | | 3ER 3-6-8 420/
# B 8 1009 6-8 200 B 8-3 310 EE 8-3-6 950M
3 1004 3-6 290M B = 3-8 230
6 120/ B H 8-3 3004

ARICOVWTRDTEEERROODE. TR LIV,



